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Multiplizieren mit Summen u. Differenzen 

Lösungsblatt 

 

Level I : 
 

1. (4𝑥 + 2) ∙ (3𝑥 − 3) = 12𝑥2 − 12𝑥 + 6𝑥 − 6 = 𝟏𝟐𝒙𝟐 − 𝟔𝒙 − 𝟔 

2. (5 + 𝑥) ∙ (2𝑥 + 2) = 10𝑥 + 10 + 2𝑥2 + 2𝑥 = 𝟐𝒙𝟐 + 𝟏𝟐𝒙 + 𝟏𝟎 

3. (𝑥 − 3) ∙ (7 + 4𝑥) = 7𝑥 + 4𝑥2 − 21 − 12𝑥 = 𝟒𝒙𝟐 − 𝟓𝒙 − 𝟐𝟏 

4. (2𝑥 + 𝑦) ∙ (2𝑥 − 3) = 𝟒𝒙𝟐 − 𝟔𝒙 + 𝟐𝒙𝒚 − 𝟑𝒚 

5. (6𝑥 − 5) ∙ (3𝑥 − 2) = 18𝑥2 − 12𝑥 − 15𝑥 + 10 = 𝟏𝟖𝒙𝟐 − 𝟐𝟕𝒙 + 𝟏𝟎 

6. (4 − 4𝑦) ∙ (𝑥 + 𝑦) = 4𝑥 + 4𝑦 − 4𝑥𝑦 − 4𝑦2 = 𝟒𝒙 − 𝟒𝒙𝒚 − 𝟒𝒚2 + 𝟒𝒚 

7. (7𝑥 − 8) ∙ (5𝑥 + 5) = 35𝑥2 + 35𝑥 − 40𝑥 − 40 = 𝟑𝟓𝒙2 − 𝟓𝒙 − 𝟒𝟎 

 

Level II : 
 

8. (𝑥² − 1) ∙ (4 + 2𝑦) = 4𝑥2 + 8𝑥2𝑦 − 8 − 2𝑦 = 𝟒𝒙𝟐 + 𝟖𝒙𝟐𝒚 − 𝟐𝒚 − 𝟖 

9. (3𝑥2 + 3𝑦) ∙ (𝑦 + 2) = 3𝑥2𝑦 + 6𝑥2 + 3𝑦2 + 6𝑦 = 𝟔𝒙𝟐 + 𝟑𝒙𝟐𝒚 + 𝟑𝒚2 + 𝟔𝒚 

10. (𝑦2 + 6) ∙ (3𝑥 − 4) = 3𝑥𝑦2 − 4𝑦2 + 18𝑥 − 24 = 𝟏𝟖𝒙 + 𝟑𝒙𝒚2 − 𝟒𝒚² − 𝟐𝟒 

11. (3𝑦2 + 𝑥²) ∙ (2𝑥 − 2) = 6𝑥𝑦2 − 6𝑦2 + 2𝑥3 − 2𝑥2 = 𝟐𝒙3 − 𝟐𝒙² + 𝟔𝒙𝒚2 − 𝟔𝒚² 

12. (4𝑥2 − 𝑦) ∙ (3𝑥 + 2𝑦) = 𝟏𝟐𝒙𝟑 + 𝟖𝒙²𝒚 − 𝟑𝒙𝒚 − 𝟐𝒚𝟐 

13. (4𝑥³ + 7) ∙ (2𝑦 + 2𝑥) = 8𝑥3𝑦 + 8𝑥4 + 14𝑦 + 14𝑥 = 𝟖𝒙𝟒 + 𝟏𝟒𝒙 + 𝟖𝒙3𝒚 + 𝟏𝟒𝒚 

14. (2𝑥2 − 3𝑦) ∙ (𝑥 − 2𝑦2) = 𝟐𝒙𝟑 − 𝟒𝒙𝟐𝒚𝟐 − 𝟑𝒙𝒚 + 𝟔𝒚³ 

 

 

Lösungen : 
 

35𝑥2 − 5𝑥 − 40  4𝑥2 − 6𝑥 + 2𝑥𝑦 − 3𝑦 

4𝑥2 − 5𝑥 − 21 12𝑥2 − 6𝑥 − 6 2𝑥3 − 4𝑥2𝑦2 − 3𝑥𝑦 + 6𝑦³ 
8𝑥4 + 14𝑥 + 8𝑥3𝑦 + 14𝑦 6𝑥2 + 3𝑥2𝑦 + 3𝑦2 + 6𝑦 12𝑥3 + 8𝑥²𝑦 − 3𝑥𝑦 − 2𝑦2 
18𝑥 + 3𝑥𝑦2 − 4𝑦² − 24 4𝑥 − 4𝑥𝑦 − 4𝑦2 + 4𝑦 2𝑥2 + 12𝑥 + 10 

18𝑥2 − 27𝑥 + 10 2𝑥3 − 2𝑥² + 6𝑥𝑦2 − 6𝑦² 4𝑥2 + 8𝑥2𝑦 − 2𝑦 − 8 
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